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Note: Attempt questions from each section as directed.

SECTION - A
Answer any two questions from this section : 2x20=40
1. Critically examine the methods used for
measuring trend in time series data. Which
method according to you is the best ? Why ?

2.  When do you make use of a mode ? How do you
calculate it ? Explain its relationship with mean
and median.

3.  What is a Binomial Distribution ? What are its

mean and variance ? Highlight its relation with
normal distribution. '
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State and prove the multiplication theorem
of probability. Show its connection with
Bayes theorem.

A candidate has received call for interview
of lecturership from 3 colleges. In the first
college there are 12 candidates, there are 15
in the second and there are 10 in the third.
What is the chance of his getting selected in
at least one of the colleges ?



SECTION - B

Answer any four questions from this section : 4x12=48
The mean length of life of a tool is 41.5 hours with

“a standard deviation of 2.5 hours. What is the
probability that a simple random sample of size

50 drawn from this population will have a mean
between 40.5 hours and 42 hours ? (Note that

the table value when z = 2.828 is 0.4977 and when
z=1.4140 is 0.4207.)
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The average lifetime of a sample of 100 light tubes
produced by a company is found to be 1580 hours
with a standard deviation of 90 hours. Test the
hypothesis that the average lifetime of the tubes
produced by the company is 1600 hours.

7. Suppose that you are asked to estimate the
proportion of families in a town which has two
or more children. A random sample of 144
families shows that 48 families have two or more
children. Construct a 95% confidence interval of
the problem.

8. It is postulated that annual profit of a company
depends on R and D expenditure. If the following
data are given, then find the estimated regression
of profit on R and D expenditure.

RED

. 917|5|10/4 (5|32
expenditure
Profit 45(42]41|60|30{34(25]20
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10.

The following is a distribution with regard to
weight in grams of mangoes of given variety. If
mangoes of weight less than 443 grams be
considered unsuitable for foreign market, what is
the percentage of the total yield suitable for that

market ?
Weightin| No. of |Weightin| No. of
grams | mangoes | grams |mangoes
410 - 419 10 450 - 459 45
420 - 429 20 460 - 469 18
430 - 439 42 470 - 479 7
440 - 449

Draw an ogive of ‘more than’ type of the above
data and deduce how many mangoes will be more
than 443 grams.

From the following data where P; and q; are
price and quantities, calculate the index number
by :

(a) Paasche’s method

(b) Fisher’s method

Commodity| p; i Po Y0
5 14 3 8

8 18 6 25
3 25 1 40
15 36 12 48
9 14 7 18
7 13 5 19
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SECTION C
Answer all the questions from this section : 2x6=12
- 11.  Write short notes on any two of the following :
(@) Correlation coefficient
(b) x2 test
(c) Conditional probability

12. Differentiate between (any two) :
(a) Primary and secondary data
(b) Null and alternative hypothesis
(c) Stratified and systematic samplings
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39 9 & farl = ae & s 4x12=48
5. fardt afer ¥ <he Y wrem e 41.5 R # ok ot
T fomer 2.5 w3 &1 %1 Wifaswar Fa1 it fp 5@
T | o T 50 SR & AR Al vl
T T 40.5 Tl SR 42 W F &9 w1 }? (wH
e i Tife T W 2= 2.828 &, W0.4977 % 3l
T z=1.4140 ¥ W 0.4207 ?)
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frad S w93 1580 wi I T4 SRl A foeer
90 =2 Ft ¥1 UReTIl HT WU witee fF S
gr1 fafda =gali o1 sirea sfea w=@ 1600 = ®)

7. HF ST SAUR TR F TE IRGR F TR Fl

A TR I el S B, Fas 2 a1 aifuss 5= §)

144 TRaRI =1 agfess ioget Suiar ® o 48 afari

F W ofys o= &) IR T 95% favaredan
A TR

8. T ofifSie o ot = anfifer @19 IR Td € = W)

forsit ot §1 afk Frrfefiae sifere fig e & 9 3R

TS S 99 W TN 1 Sehora SR 919 S|

IRTEE
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Y |45|42[41|60|30|34[25{20
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9. frafafen fedl T fre & ol &1 (IR #) 9K
R aRE e ¥ afE 443 T | Fre wR St
+ et s ¥ fow swgfea =@ fomn Sl @ 9
TR F fore Fo1 3faa T F IR 1 gfava F
?7?

(m¥) | wen | gmH) | den
410-419] 10 [450-459| 45
420-429| 20 [460-469] 18
430-439| 42 [470-479| 7
440 - 449 .
ST STEwS ‘Y e FEHR T AR wifay 3R

ST TR iR R o 443 T § ifuE IR %
Ul
10. ﬁmﬁf@aaﬁméaﬁ plﬁqlﬂﬂﬁmg

fefafaa fafy & gemeie F@ wifsT)
(a) U fafy (b) e fafy
LS b1 qQ Po Yo
£ 5 14 3 8
EE} 8 18 6 25
T 3 25 1 40
¥ 15 36 12 48
< 9 14 7 18
) 7 13 5 19
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11. Frafafas ¥ 3 fadl & W wag o 9 fafgy:  6x2=12
() wewEY e
(b) x2 e
(c) wufaeig wfgesa

12. Frfafes 3§ (el @) & s = w78 FifT
(@) Wt w s atihs
(b) Y 3R Afere afwern
() wRa @ Frag yiaaa
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